
E(Y
2)=

Exp
ect

ed
val

ue
of t

he

are
a of

the
rec

tan
gle
=

E
(R

)=

P(X+Y=4)=

P(X+Y=5)=

Var
(Q)
=

E
(Q

)=

Exp
ect
ed

val
ue

of t
he

per
ime

ter
of t

he
dec

ago
n =

P(X=Y)=

Var
(4X
−1)
=

E
(Q

2 )
=

More resources from www.mathssite.com



Exp
ect
ed

val
ue

of t
he

per
ime

ter
of t

he
rec

tan
gle
=

P
(X
+
Y
=
6)
=

P(X
+Y

>4
)=

E(Y
)=

E(P)= Va
r(
P
)
=

E(4
X−

1)=

Var(X
)=

E
(P

2 )
=

More resources from www.mathssite.com



Var(Y)=

E(X
2 )=

E
(X

)=

Expected value of the

area of the triangle =

E
xp
ec
te
d
va
lu
e
of

th
e

pe
ri
m
et
er

of
th
e
he
xa
go

n
=

P(X
+Y

>5
)=

P(X
+Y

>3
)=

P
(X
+
Y
=
7)
=

P
(X+

Y=
3)=

Expectedvalueoftheperimeterof

atrianglewhosesidesareoflength

P,QandR=

More resources from www.mathssite.com



 

X has the probability density  
function as given in the table: 

 x 1 2 3 4 5 
 P(X=x) 0.15 0.2 0.3 0.2 0.15 

 

Y has the probability density  
function as given in the table: 

 y 1 2 3 
 P(Y=y) 0.2 0.5 0.3 

 
The variables P, Q and R are as follows: 

P = 2X + 3  Q = 3X – 2  R = 2X2 – X + 1 

A rectangle has length P and width Q. 
A triangle has base P and height Q. 
A regular hexagon has side of length P. 
A regular decagon has side of length Q. 
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